do/dM (fb/GeV)

Ratio to ATLAS

=

1071

1072

1073

1074

[EEY

0.5

4-Iepton

13000 GeV pp
S B B B I

= 17T ™17 7T 17T | Tt T T T T T T L T 17T |E 9
— — =
= M(41) (atlas2021-41) 4%
= 1=
(00)
= =R
— dJo
—
- G
B 1o
_ 3
= | g i
— ' | -
= Ho
. — %3
- i ey
| o
o
™
I I
= ==
- 4%
- B ATLAS 1.5,
- . i
—a— Pythia 8.308 default g
=— —4— Pythia 8.308 default-noCR = §
— v
_ mjs
o
— -0
e | e | e | e | -
: T T T T | T T T T | T T T T | T T T T |:
— =2
— 4 i
1
[ 1‘ MA /\ / %°
ol Ny sy A T R T T l
0 500 1000 1500 2000

M(4l) (GeV)



	Contents
	Page 1


